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E Ifae C\R, o®=1, then (14+a)(1+a?)(1+a®)(1+ao*)(1+a®)(1+ad)is:

(AJes (B)o [(c)J1e (D)a [E) &

2zy + 3(z +y) + 2
3zy+2(z+y) +3

2 The neutral element of * is: 0 § —% @ % _%

3 If the function f : (—1,1) — (0,00), f(z) = ai _i satisfies f(z xy) = f(z)f(y),

Vz,y € (—1,1), then ais:

A2 @ ©1 @ ®@-

On (—1, 1) define the operation * by z x y = T,y € (—1,1).

) S
4 . ; 1.
The number of solutions of the equation I * L * ... * I, = 0 is:
10 times z

(Ao [Blb 8 4. B0 [E):s

3 The pair (a,b) € R? such that lim (V22 +z+ 14+ Va2 + 22+ 2 —az — b) = 0 is:

T—>—00

(22) (~2,-1) (-2,-2) (D] (2,-2) (‘27“‘3‘)

6 : i o
Consider the sequence with positive terms (an)n>0, a0 =1, a1 =a, a3,; = aa,_;, n > 1. The

value of a for which lim a, = 8is:
n—oo

(A)J2 (B]J16 (c]Js (D)3 (E)4

Consider the matrix A = ( = ) and let A" = < o ), n € N*. Denote Oy = < 94 ) and

1 1 Un - 00
10

d e A4 T, i oL (D)0, A-p
8 A48 1S 02 21212 24812 @ 248A 22412
X 16 2 g (D)4 1

x5+ Y3

10

If z,y € Rsatisfy 21g (x — 2y) = lgz + lg v, then the set of all values of T is:
Y

{4} {1} {1,4} - (D] {1;2,4} 0
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11 Consider the points A(2, 3) and B(4,5). The perpendicular bisector of the segment [AB] has the
equation:

2:c—y=2 2:1:+y:10 x+2y=11 @ —r+y=1 :E—I—y=7

Let f: R - R, f(z) = 2* + az , where a is a real parameter.

1.1.2'.‘ f(0) is: 1+a a l-a @ 1 0

13

The graph of f is tangent to Oz axis if:

@2 Bac1 Dot (B azo (E) acs

E For a = —3 the number of local extremum points of the function g(z) = |f(z)|,z € R, is:

(A)e B)1 (cJ2 (D)3 (E)s
Y bora=1, (@i (&) 172 (B) 174 (c) 113 (D)o (E) 4o

16

3
If z € (m,27) and cosz = = then sin z is:

@ ® Q- @ B2

b

Consider the point A(0, —1), the lines dy: x — y + 1 = 0, dy: 2z — y = 0 and the points B € d;, C' € ds, such
that d; and dy are medians of the triangle ABC.

17 The intersection of the lines d; and d has the coordinates:

(-1,2) (2,3) w2 ([ (-10 (—5—1)

18 The point B has the coordinates:

(3,6) (0,1) (1,2) (D) (-1,0) (-2,-1)

,-E If lg5 = a and 1g 6 = b, then log; 2 is:

1+a 1+a 1—a @ 1—a ll):;z

a+b+1 a—b+1 a+b+1 a+b—1

22- li_r)r%)e%-sinx is: does not exist 0 00 @ —00 1
T
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Consider the equation: cos

T -sinx — sin

z-cosx =m,m € R.

21 The equation has the solution z = g for:
1 1
mZZ B m=1 (€] m=0 (D) m= -1 mz“z
22 . e : ,
The equation has solution if and only if m belongs to the interval:

2’2

1,1 4,4 53 @ |

of the division of P by X3 + X.

Consider the polynomial P = X2 + X109 + X5 4 2, with roots z;, zs, Z3, .

.., Z90. Denote by R the remainder

B pie A 24 B)1+: (cJ2 (D) (E)o

4] ris (&) 2+x+x* (B) 24x [@oa w9 D) x. [E 1

Eixkixzis’: ? (s i) ae (Dsg - [ By

Calculatlzl T

26 /lschg (A ma ~(B) - (€ md (D) e (B) ks

27 /1 dz
o € fe7

arctgii arctge—% arctgeQ(:_l (D) I —— In(2e)

28 /% 4Sin(4x,)4d:c (A) m2 (B) 7lna  [C] #mns @m(E) (E) In(ne)
o cos'z +sin‘z 1

20N L) e i e dipa o Thes Jim /0 e

@I @+ 02 @ B3

B 27 r B3 0: 01 D) B
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